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Exercice 1 : turbine 

 

 

 

Le paramétrage adopté est le suivant :
 

10
,
 
zrotation



    

 

Travail demandé : 

1. Calculer 0/ RAV


 

2. Calculer 0/ RA


 

 

 

Exercice 2 : bras de robot 
 

Le paramétrage adopté est le suivant : 

   
210 10 ,,

  
xnTranslatiozrotation



 

 

R0 (O, 0x


, 0y


, 0z


)  R1(O, 1x


, 1y


, 1,0z


) R2(B, 1x


, 1y


, 1,0z


) 

avec 10 )( xtzaOB


  
 

Constantes géométriques : 

0zaOA


 et 0zcBC


  

 

 

Travail demandé : 

 

1. Calculer 0/ RBV


 

2. Calculer 0/ RCV


 

3. Calculer 0/ RB

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Exercice 3 : pendule double 
 

Le paramétrage adopté est le suivant :
   

210 10 ,,
  
xrotationzrotation



 

 

R0 (O, 0x


, 0y


, 0z


)  R1(A, 1x


, 1y


, 1z


) R2(B, 2x


, 2y


, 2z


) 

avec 1)( xtAB


  

 
 

Constantes géométriques : 

0zaOA


 et 2ycBC


  

 

 

Travail demandé : 

1. Calculer 0/ RAV


et 0/ RAa


 

2. Calculer 0/ RBV


et 0/ RBa


 

3. Calculer 0/ RCV


et 0/ RCa


 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

  

 


